HAVY. Ha6opHaa MapKMpPOBKa [J1A NPOBO/OB N Kabenei

3aKpbITbIA TUN OTKpbITbIN TUN
Meuatb KG 1 KG 2 Ynak. LiBet Mevatb KE 1 KE 2 KE 3 Ynak. LiBet
0 515000 516 000 1000/500 = Xéntbin @ 0 517 000 518 000 519 000 500 YépHbii @
1 515001 516 001 1000/500 = Xeéntbit @ 1 517001 518 001 519001 500 Kopnu. @
2 515002 516 002 1000/500 =~ éntbin @ 2 517 002 518 002 519002 500 KpacHbin @
g 3 515003 516 003 1000/500  Xéntbin @ 3 517 003 518 003 519003 500 Opavx. @
'g' 4 515004 516 004 1000/500 = Xéntbin @ 4 517 004 518 004 519 004 500 Kéntoin | @
= 5 515005 516 005 1000/500 = Kéntbin @ 5 517 005 518 005 519 005 500 3enéHoii @
6 515 006 516 006 1000/500  Xéntbin @ 6 517 006 518 006 519 006 500 Cunnin @
7 515007 516 007 1000/500  Xéntbin @ 7 517 007 518 007 519 007 500 OQuornet. @
8 515008 516 008 1000/500 = Xéntbin @ 8 517 008 518 008 519008 500 Ceppin @
9 515009 516 009 1000/500  Xéntbin @ 9 517 009 518 009 519009 500 Benbin (o
A 515010 516010 1000/500 = Xéntbin @ A 517010 518010 519010 200 Kéntoin | @
B 515011 516011 1000/500 = Xeéntbin @ B 517011 518011 519011 200 Kéntoii | @
C 515012 516012 1000/500 = Xéntbin @ C 517012 518012 519012 200 Kéntoii | @
D 515013 516013 1000/500  Xéntbin @ D 517013 518013 519013 200 XKéntoii | @
E 515014 516014 1000/500 = Xéntbin @ E 517014 518014 519014 200 Kéntoin | @
F 515015 516015 1000/500  Xéntbin @ F 517015 518015 519015 200 Kéntoii | @
G 515016 516016 1000/500  Xéntbin @ G 517016 518016 519016 200 Kéntoii | @
H 515017 516017 1000/500 = Xéntbin @ H 517017 518017 519017 200 Kéntoin | @
| 515018 516018 1000/500 = Xeéntbil @ | 517018 518018 519018 200 Kéntoii | @
J 515019 516019 1000/500  Xéntbin @ J 517019 518019 519019 200 Kéntoii | @
K 515020 516 020 1000/500  Xéntbin @ K 517020 518020 519020 200 XKéntoii | @
- L 515021 516 021 1000/500 = Xéntbin @ L 517 021 518021 519021 200 Kéntoin | @
é M 515022 516 022 1000/500  éntbin @ M 517022 518022 519022 200 Kéntoii | @
= N 515023 516 023 1000/500 = Xéntbin @ N 517023 518023 519023 200 XKéntoii | @
(6} 515024 516024 1000/500  Xéntbin @ O 517 024 518024 519024 200 Kéntoin | @
P 515025 516 025 1000/500 = Xeéntbil @ P 517 025 518 025 519025 200 Kéntoii | @
Q 515026 516 026 1000/500  Xéntbin @ Q 517 026 518026 519026 200 Kéntoii | @
R 515027 516 027 1000/500 ~ Xéntbin @ R 517 027 518027 519027 200 XKéntoit | @
S 515028 516028 1000/500 = Xéntbin @ S 517028 518028 519028 200 Kéntoii | @
T 515029 516 029 1000/500 ~ Xéntbin @ T 517029 518029 519029 200 Kéntoii | @
u 515030 516 030 1000/500 ~ Xéntbin @ U 517030 518030 519030 200 Kéntoii | @
\ 515031 516 031 1000/500 = Xéntbin @ " 517031 518031 519031 200 Kéntoin | @
w 515032 516 032 1000/500 = Xeéntbin @ W 517032 518032 519032 200 Kéntoii | @
X 515033 516 033 1000/500 ~ éntbin @ X 517033 518033 519033 200 Kéntoii | @
Y 515034 516 034 1000/500  Xéntbin @ Y 517 034 518034 519034 200 XKéntoii | @
z 515035 516 035 1000/500 = Xéntbin @ z 517035 518 035 519035 200 Kéntoii | @
Mp 515040 516 040 1000/500 Cuhin - @ Mp 517 040 518 040 519040 200 Kéntoii | @
S 515041 516 041 1000/500 = 3enéHbin @ + 517 043 518 043 519043 200 Kénoii | @
> T 515042 516 042 1000/500 = KpacHbin @ - 517 044 518 044 519 044 200 Kéntbin | @
g + 515043 516 043 1000/500  KpacHbin @ + 517 045 518 045 519 045 200 Kéntbin | @
g - 515044 516 044 1000/500 Cuhin - @ ( 517 046 518 046 519 046 200 XKéntoit | @
5 + 515045 516 045 1000/500 = Xéntbin @ 517 047 518 047 519 047 200 Kéntoin | @
( 515046 516 046 1000/500 = éntbin @ / 517 048 518048 519048 200 Kéntbin | @
515047 516 047 1000/500 ~ Xéntbin @
/ 515048 516 048 1000/500  Xéntbin @
TexHnyecKme napameTpbl KG 1 KG 2 KE 1 KE 2 KE 3
BHewHun @ nsonauyun, mm 2,4-44 4-8,5 — — —
MonepeyHoe ceyeHne, Mm? 0,75-4 4-16 0,5-1,5 1,5-2,5 4-6






